APEEJAY SCH OOL, PANCHSHEEL PARK
CLASS-X
Science (086)
PREBOARD - II EXAMINATION

Name of the students:

Date:
Max. Marks: 80

Time allowed: 3 Hours

General Instructions:
(. This question paper consists of 39 questions in 5 sections.
ii. All questions are compulsory. However, an internal choice is provided in some questions. A student is
expected 1o attempt only one of these questions.
;n‘. Section A consists of 20 objective type questions carrying 1 mark each.

tv.  Section B consists of 6 Very Short questions carrying 02 marks each. Answers to these questions should
be in the range of 30 to 50 words.

v. Section C consists of 7 Short Answer type questions carrying 03 marks each. Answers to these questions

should be in the range of 50 to 80 words.
vi. Section D consists of 3 Long Answer type questions carrying 05 marks each. Answer to these questions
should be in the range of 80 to 120 words.
vii. Section E consists of 3 source-based/case-based units of assessment of 04 marks each with sub-parts.
Section-A
Select and write the most appropriate option out of the four options given for each of the questions 1 -
20. There is no negative mark for incorrect response.

Q.no Questions Marks

" Which of the following hydrocarbons undergoes Addition reaction? 1
(ﬂ] C;Hr, (bJ CIHI
(c) C.H, (d) C:H,,

. In which of the following reaction does a solid get separated from the solution? 1
(a) Neutralization reaction (b) Precipitation reaction
(c) Redox reaction (d) Combustion reaction

3. Burning of hydrogen gas in presence of oxygen gas to form water vapor is an example ]
of (a) Combination reaction (b) Exothermic reaction
(c) Redox reaction (d) All of these

4. A compound used for whitewashing is 1
(a) Quick lime (b) Slaked lime
(c) Limestone (d) Blue vitriol

5. An element reacts with oxygen to give a compound with a high melting point. This 1
compound is also soluble in water. The element is likely to be
(a) calcium (b) carbon
(c¢) silicon (d) iron

6. 10 mL of a solution of NaOH is found to be completely neutralized by 8 mL of a given 1

solution of HCI. If we take 20 mL of the same solution of NaOH, the amount HC!
solution (the same solution as before) required to neutralize it will be

(a) 4 mL (b) 8 mL
(c)12 mL (d) 16 mL
7. Which of the following salts does not contain water of crystallization? ]
A
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10.

11.

12.

13.

14,

(a) Blue vitriol A
(c) Washing soda (d) Gypsu

‘ ' s.
The image shows the excretory system in human

(b) Baking soda

N
. ?
What is the importance of the labelled part in the excretory system’
(a) It produces urine.
(b) It filters waste from the blood.

(c) It stores the urine till urination.
(d) It carries urine from the kidney to the outside.

In plants, the role of cytokinin is
(a) promoting cell division
(b) wilting of leaves
(c) promoting the opening of stomatal pore
(d) detachment of fruits

prefer vegetative propagation for growing crops.
(a) Seedless crops can also be reproduced.
(b) Offspring plants arc genetically similar to parent plants,
(c) Plants grown by vegetative propagation bear fiuit earlier.
(d) Vegcrative propagation does not depend on external agents of pollination.

Person X suffers from a condition that affects the norma] functioning of the pituitary 1

gland. Which of the following is most likely a direct effect of person X's condition?
(a) Insufficiency of iodine
(b) Irregular heartbeat
(¢c) Insufficient growth of the body
(d) Inability to regulate blood sugar

A plant gets rid of excess water through transpiration. What is the method used by
plants to get rid of solid waste products?
(a) Shortening of stem

(b)Dropping down fruijts
(c) Shedding of yellow leaves

The light enters from air to glass having refractive index 1.5, the speed of light in glass
1S;

(a) 3 x 10" m/s (b) 2 x 10* m/s
(¢) 1.5 x 10®* mv/s (d) 2.25 x 10" m/s

The phenomenon of twinkling of stars js duce to:

(d) Expansion of roots into the soil
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(a) Dispersion

‘ (b) Tyndall effect
(c) Almospheric refraction (d) Irg.ycﬂcctiﬂn ;

13}:;‘: gllv en food chain, suppose the amount of energy at the fourth trophic level is 5kJ,
Will be energy available at the producer level?

16.

17.

18.

19.

20.

21.

Lﬂli' '
"—+- c-HnrpII ar l—-—+ Cham¢leon

Modgoots e e— 0l

(b) 50 kJ (c) 500 kJ (d) 5000 kJ

As energy transferred from one trophic |
(a) 1s increased

(c) remains the same

(a) S kJ

evel to another, the amount of usable energy
(b) is decreased
(d) cnergy is never transferred

Question No. 17 to 20 consist of two statements — Assertion (A) and Reason (R).
Answer these questions selecting the appropriate option given below:
(a) Both A and R are true, and R is the correct explanation of A.

(b) Both A and R are true, and R is not the correct explanation of A.
(c) A is true but R is false.

(d) A is false but R 1s true

Assertion: Rusting of iron is endothermic in nature.
Reason: As the reaction is slow, the release of heat is barely evident.

Assertion: HIV/AIDS is a sexually transmitted disease.

Reason: Condoms can prevent sexually transmitted disease.

Assertion: The strength of the magnetic field produced at the centre of the circular coil
increases on increasing the number of turns in it.

Reason: The current in each circular turn has the same direction and the magnetic field
due to each turn just adds up.

Assertion: Biodegradable substances result in the formation of compost and natural
replenishiment.

Reason: It is due to the breakdown of complex inorganic substances into simple organic
substances.

Section-B
Question No. 21 to 26 are very short answer questions

Riya took Sulphur powder on a spatula and heated it. She collected the gas evolved by
inverting a test tube over it, as shown in figure below.

ES
il
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LY

' Test tube
-0 < uln :'ﬂﬂl:lnj-ng
3 ‘11_“:' "I'c*—'-— "’Flt der
R - sulphur powae
.
T‘—_ Burne:
.
. .
P S
Collection of gas i~ litmus paper and moist litmus paper’
(2) What will be the action of the gas on dry LiTmus pape: lace in the figure.

* - - o e Tl . I "ﬂ- -"'""E ?
(b) Write a balanced chemical equanon 107 the reacltion axane

What happens when _
(2) Brvophyllum leaf falls on n'et‘s_ml
(b) On maturation sporangia of Riizopus burst.

In the given figure, label the following parts:-

(a) Where copper -T is inserted =
(b) Where block is created surgically to prevent fertilizaton.

OR

“Use of condom is beneficial for both the sexes involved in a sexual act.” Jusufy this
statement by giving two reasons.

\What is lateral displacement of light? State the factors affecting Iit.

ctric motor takes SA from a 220V line. Determine the power of the motor and the

An cle
energy consumed in 2 hours.

OR

Calculate the equivalent resistance in the following network when value of R1, R2, RE'-
& R4 are 4 Ohm. 6 Ohm, S Ohm & 2 Ohm respectively, which are connected to 20 \

battery.

2

s L
US (=l | =3

t)

13
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28,

29.

30.

Grudy the food web shown below.

&

) ] 1 L howmn, In ’1'-":_"’__:"":':‘_ ﬂ:: eag:a wll
(a) Identify and writc the food chain from the food web s c g

) : roducers.

receive the highest percentage of the energy fm{n the p GC.L-Dd, dzhle pestcide is
(b) Which organism will be the most affected wnen 2 nﬂn-.t:-, i thisdc;l:eﬁ .
introduced into the soil? What is the phenomenon responst le 1or1 lec:

Section-C _
Question No. 27 to 33 are short answer questons

Translate a balanced chemical equation with state symbols for the fn_lén“mﬁg :'ei::on-_tz
(a) Sodium Hydroxide solution in water reacts with Hvdrochloric acid to produc

Sodium chloride solution and water. _
] ' 1 monia.
(b) Hydrogen gas combines with nitrogen 10 form am _ '
(c) polassium metal reacts with water to g1ve potassium hydroxide and hydrogen gas.

OR

Explain the following terms with cxamp_:le_.s: _
(a) Oxidation reaction (b) Rancidity (c) Corrosion

Give reasons (any threc): _

(a) Platinum, gold and silver are used to make jewellery.

(b) Sodium, potassium and lithium are stored under oil. _ ‘

(c) Aluminium is 2 highly reactive metal, yet it is used to make utensils for cooking.

(d) Carbonate and sulphide ores are usually converted into oxides during the process of
extraction.

I.-i

Why is iodized salt advisable? Name the disease caused due tc deficiency of iodine in
our diet and state its one symptom.

Mendel performed an experiment to study the inheritance pattern of genes. He observed
n number of contrasting visible characters controlled in pea plants in a field. When two
contrasting pairs of traits were considered simultaneously, only one parental
combination appeared in F1 generation. However, in F2 generation, raised by self -
pollination, four combinations of traits appeared.

(a) What do the F1 progeny of tall plants and round seeds and short plants with
wrinkled sceds look like?

(b) Name the recessive traits in the above case.
(c) When F1 plants are self- pollinated, a total 1600 plants were produced. How many

L)

15)

Lild

La)
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1 lonath of the e

OR
0 em N front of @ convex mirror with

and size ofthe Image.

Y

An ohiect S cm high 18 placed at a distance of
radius of curvamure 30 ¢m. Find the nanre, position

LY}

o charactensnes of magnelic (jeld Lines?
of force around current carrying solenoid showing the direction

"ad

(2) Write any T™W
(b) Draw magnetic Iines
of poles developead.

0 A flows througl

() A current of 1
(1) Calculate the amount of charge passing throug
olectron is |

(1) If the charge of an ‘6~ 10" C, then ¢
olectrons flow ¢hrough the conductor.

(b) V-I graph for a con hown in the

pvo minulcs.

h the conductor.
al number of

1 a conductor for
alculate the tot

Y]
Y]

ing
figure:

ductor is 48 S

A

—

H

{V) Potemtial Difference

(1) Cucrent —*
Wwhat does the slope of the graph reprcsenl?
Section-D
No. 34 to 36 arc long answer questions.
5

ving compounds.

es for the follov
(i1) Bromopentanc
te between suturnted

Question

34. (a) Draw the structur
(1) Ethanoic acid
(b) Give a test that can be used to differentia and unsaturated

hydrocarbons.
(c) What will be the structure of t
in a hydrncarhﬂn?

OR

he micelle that would be formed if you dissolve soap

electron dot structurcs for
sical and chemical

(a) Draw the
(1) Ethanoic acid. (i1) H.S.
istl ' d ethanoic acid

(b) Distinguis
pmpertics (one pol

(c) Why is agitation n¢

based on their phy

nt for each).
cessary to get clean clothes?

—
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(a) Tooth e '
: Nam;‘li:\el s the hardest substance in our body.
& COmpound it is made up of.

(ii) At w
) hat pH of the mouth does it get corroded?

(iii) State the r
ole of ia |
decay. bacteria in the mouth. Suggest a method to prevent tooth

(b) What would
be the consequences of deficiency of haemoglobin in our bodies?

OR

Given below i :
HAREN oIt 1s a table representing the characteristics of two fluids involved in the
portation of substances in the human body.

Fluid A Fluid B

colourless Coloured

contai '
ins less oxygen contains more oXygen

contains less protein contains more protein

(a) Idt::ntify fluid A and fluid B
(b) With the help of a flow chart, describe the movement of fluid A from the

intercellular spaces to the main circulatory system.
(c) What mlf& does fluid A play in the digestion of food in humans?
36. The near point of a person has shifted from 75 cm to 75 ¢m from his eyes. 5

(2) Name the defect of vision the person is suffering from.

(b) List its two possible causes.
(c) Calculate the power of the lens needed to correct thi

point for the normal eye 1s 25 cm.

s defect. Assume that the near

OR

bjects placed closcr than 25 cm?

(a) Why 1s a normal eye not able to sce clearly the o
of the spectrum of white light using

(b) With the help of a diagram, show recombination
prism.
(c) List two essential conditions for observing a rainbow.

SECTION -E
37 to 39 are case-based/data -based questions with 2 to 3 short sub-parts.

Internal choice is provided in one of these sub-parts.
aken and added to the following solution

Question INo.

37. Samples of four metals A, B, C and D were
one by one. The results obtained have been tabulated as follows.
Metal | Tron (II) Copper (1I) Zinc sulphate Silver nitrate
sulphatc sulphate
A No reaction Displacement - -
B Displacement - No reaction
C No reaction No reaction No reaction Displacement
D No reaction No reaction No reaction No reaction
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